TR^m K R = R^{m+1} 1 T ~ natural to pology product to pology

 $\|(x_{1},...,x_{n},x_{n+1})\| =$ $\|(x_{1},...,x_{n},\sigma)+(o_{1},...,o_{n}x_{n+1})\|\leq$ < \((x1,...,x1,0))) + \(0,...,0,x11))) = $= ||(x_{n}, \dots, x_{m})|| + |x_{m+1}|.$ $d((x_1,...,x_{m+1})_{3}(y_{13},...,y_{m+1})) =$ = d((x,,...,x_n), (y,,...,y_n)) + (x_{n+1} - y_{n+1}) = ball of radius & centered

at (x1,..., xmt1) contains the ball of radius \$ 2 centered at (x1,..., xm) × (xm+1- 2, xm+1+ 2)

Z ⇒ Open set in natural topology is open in the product topology. $\|(x_{1},...,x_{n},0)\| = \sqrt{x_{1}^{2} + ... + x_{n}^{2}} \leq$ $\leq \sqrt{x_1^2 + ... + x_{m+1}^2} = \|(x_1, ..., x_{m+1})\|$ $\|(o_{j-1}, x_{m+1})\| = \sqrt{x_{m+1}^2} \leq$ $\leq \|(x_1, \ldots, x_{m+1})\|$ ball of radius & centered at (x,,...,xm+1) is contained in the product of the ball of radius & referred at (x_1, \ldots, x_m) and $(x_{m+1}-\varepsilon_j x_{m+1} + \varepsilon)$.

This implies that an open set in product topology is open in the natural topology Hence, the matural topology of IR" is the product topology of R">R O D D RM Theorem [a, B,] x ... x [a, Bm] C IR is compact. Proof: We proved this for m=1.

General case follows by induction R = R × R as topological spaces. By induction assumption [a, b,] x ... x [am-1, bn-1] is compact. Hence, $([a_1, b_1] \times \ldots \times [a_{m-1}, b_{m-1}]) \times [a_m, b_m]$ is compact, by the theorem we proved last time. A set S in IR is bounded if it is contained in some Ball centered at O (this depends on metric, not on topology!).

5 Theorem (Heine - Borel) Let SCIR. The following ptoperties are equivalent: (i) 5 is compact; (ii) S is closed and bounded. Proof ! TR" is hausdon ff -Hence, if it is compact, it is losed. ed. $5 \subset \bigcup_{m=1}^{\infty} B(o_{m})$. By compactmess, SCB(0,N) for some N>O, i.e., 5 is bounded. If S is closed and bounded, s is a closed subset of

6 a sufficiently large box [a,,b,]x ···· x [an, bn]. Since this box is compact, S is compact.

Weierstrass theorem Can define $\alpha: [0, 1] \xrightarrow{\alpha} [a, b]$ $\alpha(t) = \alpha + (b - \alpha)t$ $x'(s) = \frac{s-a}{b-a} - inverse map.$ Theorem: Let f be a continuous function on [a, b]. Then there exist function on [a,6]. Then for any E>O there exists a polynomial P Anch that IIF-PIL<E in C([a,b]). (Therefore, polynomials are dense in $\mathcal{C}([a, b])$.

Proof: Can assume that a =0, B=1.

Can assume that
$$f(0) = f(1) = 0$$
.
Boof: Part $g(x) = f(0) + (f(1) - f(0)) \times linear$.
 $F(x) = f(x) - g(x)$ $F(0) = F(1) = 0$.
 $F(0) = f(0) - g(0) = 0$, $F(1) = f(1) - g(1) = 0$.
Can extend f to be 0 outside $[0,1]$.
There f is continuous on R.
 $f(1-x^2)^m$ is positive
on $[-1,1]$. Can pick $c_m > 0$ such that
 $\int_{-1}^{1} Q_m(x) dx = 1$.
 $P_m(x) = \int_{-1}^{1} f(x+t) Q_m(t) dt$
for $0 \le x \le 1$.
 $f(0) \ge x \le 1$.

,

 ∇

tim f(x+t) in O for t <-x, t=1-x.

Hence

$$P_{m}(x) = \int_{-x}^{1-x} f(x+t) Q_{m}(t) dt.$$

Make change of variables $s = t+x$

$$ds = dt$$

$$P_{n}(x) = \int_{O} f(s) Q_{n}(s-x) ds,$$

$$Q_{n}(s-x) = C_{n}(1 - (s-x)^{2})^{n}$$

$$Q_{m}(n-x) = \sum_{\mu \in \mathcal{A}} a_{\mu \in \mathcal{A}} \int_{x}^{\pi} x^{\mu}$$
$$\Rightarrow P_{m}(x) = \sum_{\mu \in \mathcal{A}} a_{\mu \in \mathcal{A}} \left(\int_{n}^{\pi} f(n) h^{\mu} dn \right) x^{\mu}$$

is a polynomial in
$$x$$
.
 $|P_n(x) - f(x)| = |\int_{-1}^{1} f(x+t) Q_n(t) dt - 1$
 $-f(x) \int_{-1}^{1} Q_n(t) dt = -1$

9

$$= \left(\int_{-1}^{1} (f(x+t) - f(x)) Q_{m}(t) dt\right) \leq 10$$

$$= \left(\int_{-1}^{1} (f(x+t) - f(x)) Q_{m}(t) dt\right) \leq 10$$

$$= \left(\int_{-1}^{1} (f(x+t)) - f(x)\right) Q_{m}(t) dt,$$

$$= \int_{-1}^{1} (f(x+t)) - f(x) Q_{m}(t) dt,$$

$$= \int_{-1}^{1} (f(x+t)) - \int_{-1}^{1} (f(x+t)) - f(x) Q_{m}(t) dt,$$

$$= \int_{-1}^{1} (f(x+t)) - f(x) Q_{m}(t) dt,$$

$$= \int_{-1}^{1} (f(x+t)) - f(x) Q_{m}(t) dt,$$

$$= \int_{-1}^{1} (f(x+t)) - \int_{-1}^{1} (f(x+t)) - f(x) Q_{m}(t) dt,$$

$$= \int_{-1}^{1} (f(x+t)) - \int_{-1}^{1} (f(x+t)) - f(x) Q_{m}(t) dt,$$

$$= \int_{-1}^{1} (f(x+t)) - \int_{-1}^{$$

$$\begin{split} & \left| P_{\mu}(x) - f(x) \right| \leq M \int Q_{\mu}(t) dt + \\ & \left| \frac{1}{2} + M \int Q_{\mu}(t) dt \right| \leq \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right| \\ & \left| \frac{1}{2} + 2M \int Q_{\mu}(t) dt \right|$$

This implies that IIP_n-fll< 2 for nzmo.

It remains to prove *